Ex S Ak A k7Y
9) = (52) Xt + 9>

Ld'e use o gjwu,ie, Tlereme wi Tl L =05

= 0.

5/2_ 3/2.

_1__\,?_’___* — O = XL)S/
Xq""j ><Uf+9>,

MM/MMJV/& ?k& an MYPmWMMWd,}%XﬂDQaJé
? W\MM;(&T% if (Xh‘ﬂl) A’;_;’\_LB jou Ao O ao
X,Lj>"’7 0, 0).
LTI B K FL A El
- X4y XT 4y
< Vty> M%____ 13/3/"’

MV\NMV\V{’J we STILL Cave a Lo vonn —
wok oo Atk 5()@,1 Ao O ao (% y) —> (0,0) .

X Lek% /b“ﬁ J«»\E/bz@ok s WaMpw/Q_«b“"CbL js
2
]b|3/z _ \XOLQ————-> /2
XL’+9 Y 4 +fj
X% /'71
= (\/71:7) — X (x >

X7 +D +9




ST LL
,/7 7"\3
(X”+ ),

af
n
nan - ‘
u

e ko
(= 33 5
4&&VK£(&5

/ %af

)
uf)]cﬂa o

L WM

H

\

4/

X

aJ&i

N

ad

U

R

=

T
T

BE

¥,

)" .
l/L}
> n
. U“D o |
FY‘* —+ (XL’+
— 14 J )(q‘/ ‘t?g/q ‘
/> | L
. f/>
f;r:;#“ (i}j£9

= —e 0 |
> D)
(0
/6) —p
qas |
V\/\y
N Lare
|
wnee
C’
(/\\/C\ﬂ/
bb

3/& _
XLLi!jL
X
J&;:?
(%9

O,




F) Faoud A an L‘%xlsz(x«z))
(x9)=>(0,0) '

X"+ Y=
LA s }’ME S‘M'PL'—‘FT)@/C&_Q/ LX‘;«WLSQ/CM;

T — 47 (x¥=2) _ 2 — y'x
OZXL’—FﬁL (>2><2+j’~

X WF"&'(/Q._ ”ka& o g/\wo( ﬂ\w—h/u\ﬂ& /&Wt

X =o0 ¢ \/(AW\, ('2/'" O 3/0%2/=°2/
N °ty*/ Yo

Tl gotentiol Liwik i Aloefer L= 2.
¥ WUSe quie’\’%wm wi e L =2-

(2= 52 ) ..4;) _ YT 2 Gxtg) i

—‘:lX] —> O
as (X@-—P(O/o)

— S WeL 2 & T TN IRZVN

JQ‘M qXL’jL(X,z) _ 9
(7‘,‘9) —>(90) ZXL+9L




